				10-8 Emergency Vehicle Service New Holland, PA		Blue Tech, LLC Pittsville, MD		Dana Safety Supply, Inc. Lorton, VA	
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	48" Nfuse Dual Color Lightbar Product #ENULB00UEU-210	Each	15	\$1,339.80	\$20,097.00	\$1,283.33	\$19,249.95	\$1,413.66	\$21,204.90
2	8 MOD Interior Windshield Light Bar Dual Color Spilt Red/White, Blue White (2023 Ford Interceptor Utility) Product # ENFWBF	Each	3	\$777.20	\$2,331.60	\$744.44	\$2,233.32	\$835.56	\$2,506.68
	8 MOD Interior Rear Deck Lightbar Dual Color Red/Amber, Blue Amber (2023 Ford Interceptor Utility) Product # ENFWBRF	Each	3	\$643.80	\$1,931.40	\$616.67	\$1,850.01	\$648.47	\$1,945.41
4	SoundOff BluePrint 500 Series 200-Watt Remote Button Siren Product # ENGSA5200RSP	Each	19	\$725.00	\$13,775.00	\$694.44	\$13,194.36	\$751.52	\$14,278.88
5	SoundOff Remote Node Product # ENGNDO4102	Each	38	\$150.80	\$5,730.40	\$144.44	\$5,488.72	\$148.97	\$5,660.86
6	SoundOff 18" Harness Kit for Remote Node Product # ENGHNK03	Each	8	\$73.18	\$585.44	\$38.22	\$305.76	\$188.42	\$1,507.36
7	SoundOff 10Ft Harness Kit for Remote Node Product # ENGHNK06	Each	30	\$75.82	\$2,274.60	\$76.44	\$2,293.20	\$68.56	\$2,056.80
8	SoundOff BluePrint Link Module for 2023 Ford Interceptor Utility Product # ENGLMK008	Each	18	\$275.06	\$4,951.08	\$252.22	\$4,539.96	\$256.85	\$4,623.30
9	SoundOff 100J Series Composite Speaker w/ Universal Bracket Product # ETSS100J5	Each	38	\$150.80	\$5,730.40	\$200.44	\$7,616.72	\$179.17	\$6,808.46
10	SoundOff mPower HD4" Fascia LT w/Studs LED Red / White Product # EMPS4STS4D	Each	4	\$108.00	\$432.00	\$108.89	\$435.56	\$97.33	\$389.32

				10-8 Emergency Vehicle Service New Holland, PA		Blue Tech, LLC Pittsville, MD		Dana Safety Supply, Inc. Lorton, VA	
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
11	SoundOff mPower HD 4" Fascia LT w/Studs LED Blue / White Product # EMPS4STS4E	Each	4	\$108.00	\$432.00	\$108.89	\$435.56	\$97.33	\$389.32
12	SoundOff mPower 3" Fascia Lt w/Quick MNT 8 LED Red / White Product # EMPS1QMS3D	Each	8	\$96.55	\$772.40	\$97.33	\$778.64	\$86.97	\$695.76
13	SoundOff mPower 3" Fascia Lt w/Quick MNT 8 LED Blue / White Product # EMPS1QMS3E	Each	8	\$96.55	\$772.40	\$97.33	\$778.64	\$86.97	\$695.76
14	SoundOff 35 Degree Wedge Assmb Black 3" Fascia Quick Mnt Lt Product # PMP1WDG35B	Each	8	\$5.73	\$45.84	\$5.78	\$46.24	\$5.18	\$41.44
15	SoundOff 4" Fascia Lt w/Stude 12 LED Red / Blue Product # EMPS2STS4J	Each	8	\$108.00	\$864.00	\$108.89	\$871.12	\$97.33	\$778.64
16	SoundOff Window Shroud Lit for 4" Lts Product # PMP2WSSSB	Each	8	\$11.02	\$88.16	\$11.11	\$88.88	\$9.96	\$79.68
17	SoundOff mPower 3" Screw Mnt Red Product # EMPS1SMS1R	Each	4	\$66.12	\$264.48	\$66.67	\$266.68	\$59.79	\$239.16
18	SoundOff mPower 3" Screw Mnt Blue Product # EMPS1SMS1B	Each	4	\$66.12	\$264.48	\$66.67	\$266.68	\$59.79	\$239.16
19	SoundOff 3" 15 Degree Wedge Black Product # PMP1WDG15B	Each	8	\$5.73	\$45.84	\$5.78	\$46.24	\$5.18	\$41.44
20	SoundOff lashback Plug-InPlay Taillight Flasher 2023 Ford Interceptor Utility Product # ETTFFUT-16	Each	13	\$81.55	\$1,060.15	\$82.22	\$1,068.86	\$73.74	\$958.62

				10-8 Emergency Vehicle Service New Holland, PA		Blue Tech, LLC Pittsville, MD		Dana Safety Supply, Inc. Lorton, VA	
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
21	SoundOff mPower 4" Fascia Lt w/Quick Mt 12 LED Red / White Product # EMPS2QMS4D	Each	12	\$108.00	\$1,296.00	\$108.89	\$1,306.68	\$97.33	\$1,167.96
22	SoundOff ower 4" Fascia Lt w/Quick Mt 12 LED Blue / White Product # EMPS2QMS4E	Each	12	\$108.00	\$1,296.00	\$108.89	\$1,306.68	\$97.33	\$1,167.96
TOTAL LUMP SUM (Items 1-22)			\$65,040.67		\$64,468.46		\$67,476.87		

^{*}Corrected calculations based on unit pricing

Remarks/Exceptions

10-8 Emergency Vehicle Service - Did not list Delivery/Service date

Blue Tech, LLC - Delivery/Service can be performed no later <u>45</u> calendar days from receipt of order.

Item 2 Non-76P

Item 3 Changed 8 MOD to 6 MOD Interior Rear Deck Lightbar

Dana Safety Supply, Inc. - Delivery/Service can be performed no later 120 calendar days from receipt of order.

				Front Line I Jessu		Global Pu Hanov	blic Safety er, MD
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
1	48" Nfuse Dual Color Lightbar Product #ENULB00UEU-210	Each	15	\$1,600.00	\$24,000.00	\$1,269.00 *	\$19,035.00 *
2	8 MOD Interior Windshield Light Bar Dual Color Spilt Red/White, Blue White (2023 Ford Interceptor Utility) Product # ENFWBF	Each	3	\$945.00	\$2,835.00	\$737.00	\$2,211.00
3	8 MOD Interior Rear Deck Lightbar Dual Color Red/Amber, Blue Amber (2023 Ford Interceptor Utility) Product # ENFWBRF	Each	3	\$734.00	\$2,202.00	\$737.00	\$2,211.00
4	SoundOff BluePrint 500 Series 200-Watt Remote Button Siren Product # ENGSA5200RSP	Each	19	\$850.00	\$16,150.00	\$687.00	\$13,053.00
5	SoundOff Remote Note Product # ENGNDO4102	Each	38	\$168.00	\$6,384.00	\$143.00	\$5,434.00
6	SoundOff 18" Harness Kit for Remote Node Product # ENGHNK03	Each	8	\$69.00	\$552.00	\$69.00	\$552.00
7	SoundOff 10Ft Harness Kit for Remote Node Product # ENGHNK06	Each	30	\$77.00	\$2,310.00	\$56.00	\$1,680.00
8	SoundOff BluePrint Link Module for 2023 Ford Interceptor Utility Product # ENGLMK008	Each	18	\$291.00	\$5,238.00	\$249.00	\$4,482.00
9	SoundOff 100J Series Composite Speaker w/ Universal Bracket Product # ETSS100J5	Each	38	\$202.00	\$7,676.00	\$143.00	\$5,434.00
10	SoundOff mPower HD4" Fascia LT w/Studs LED Red / White Product # EMPS4STS4D	Each	4	\$110.00	\$440.00	\$110.00	\$440.00

				Front Line I Jessuj		Global Public Safety Hanover, MD		
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	
11	SoundOff mPower HD 4" Fascia LT w/Studs LED Blue / White Product # EMPS4STS4E	Each	4	\$110.00	\$440.00	\$110.00	\$440.00	
12	SoundOff mPower 3" Fascia Lt w/Quick MNT 8 LED Red / White Product # EMPS1QMS3D	Each	8	\$98.00	\$784.00	\$98.00	\$784.00	
13	SoundOff mPower 3" Fascia Lt w/Quick MNT 8 LED Blue / White Product # EMPS1QMS3E	Each	8	\$98.00	\$784.00	\$98.00	\$784.00	
14	SoundOff 35 Degree Wedge Assmb Black 3" Fascia Quick Mnt Lt Product # PMP1WDG35B	Each	8	\$6.00	\$48.00	\$6.00	\$48.00	
15	SoundOff 4" Fascia Lt w/Stude 12 LED Red / Blue Product # EMPS2STS4J	Each	8	\$110.00	\$880.00	\$110.00	\$880.00	
16	SoundOff Window Shroud Lit for 4" Lts Product # PMP2WSSSB	Each	8	\$11.00	\$88.00	\$11.00	\$88.00	
17	SoundOff mPower 3" Screw Mnt Red Product # EMPS1SMS1R	Each	4	\$67.00	\$268.00	\$67.00	\$268.00	
18	SoundOff mPower 3" Screw Mnt Blue Product # EMPS1SMS1B	Each	4	\$67.00	\$268.00	\$67.00	\$268.00	
19	SoundOff 3" 15 Degree Wedge Black Product # PMP1WDG15B	Each	8	\$6.00	\$48.00	\$6.00	\$48.00	
20	SoundOff lashback Plug-InPlay Taillight Flasher 2023 Ford Interceptor Utility Product # ETTFFUT-16	Each	13	\$83.00	\$1,079.00	\$83.00	\$1,079.00	

		Front Line I Jessuj		Global Public Safety Hanover, MD			
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
21	SoundOff mPower 4" Fascia Lt w/Quick Mt 12 LED Red / White Product # EMPS2QMS4D	Each	12	\$110.00	\$1,320.00	\$110.00	\$1,320.00
22	SoundOff ower 4" Fascia Lt w/Quick Mt 12 LED Blue / White Product # EMPS2QMS4E	Each	12	\$110.00	\$1,320.00	\$110.00	\$1,320.00
TOTAL LUMP SUM (Items 1-22)				\$75,1	14.00	\$61,85	59.00 *

^{*}Corrected calculations based on unit pricing

Remarks/Exceptions

Front Line Mobile Tech - Delivery/Service can be performed no later <u>30</u> calendar days from receipt of order.

 $\label{lem:control} \textbf{Global Public Safety -} \ \ \textbf{Delivery/Service can be performed no later} \ \underline{\textbf{45}} \ \ \textbf{calendar days from receipt of order}.$ Shipping Included